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ð ñòóóòô õöò÷øùó úô õöûñüúñûø ýüûüúýüúñý úý ùýüúóûüúþ üÿù �ú�ùöùôñù ò� ü�ò
õöòõòöüúòôý ÷� óùûôý ò� úôüùö�ûø ùýüúóûüúòô� �ÿúý üòõúñ úý ùýõùñúûøø� úóõòöüûôü
úô ñøúôúñûø üöúûøý �ÿùöù úü úý ôùñùýýûö� üò úô�ùýüúþûüù ñ�öù öûüùý ò� ü�ò �ö�þý òö
üöùûüóùôüý� �ÿù üÿùòöùüúñûø ÷ûñ	þöò�ô� ò� üÿúý öùýùûöñÿ úý ûý �òøøò�ý
 ý�õõòýùüÿûü X1, . . . , Xn1

ûô� Y1, . . . , Yn2

ûöù ü�ò úô�ùõùô�ùôü ýûóõøùý ý�ñÿ üÿûü Xi ∼
Bernoulli(p1)

ûô� Yj ∼ Bernoulli(p2)� �úüÿ i = 1, . . . , n1
ûô� j = 1, . . . , n2

��ü úý ôùñùýýûö� üò ñòôýüö�ñü û ñòô
�ùôñù úôüùö�ûø òö û ñöù�ú÷úøúü� úôüùö�ûø �òö üÿù
�ú�ùöùôñù ò� üÿù õöòõòöüúòôý p1 − p2

�
�ÿù óòýü õòõ�øûö óùüÿò� �òö ùýüúóûüúôþ p1−p2

÷� óùûôý ò� �öù��ùôüúýü ñòô
�
�ùôñù úôüùö�ûø úý üÿù�ûø� úôüùö�ûø� �ÿúñÿ úý õöùýùôüù� úô óòýü úôüöò��ñüòö� ýüûüúý�üúñý üù�ü÷òò	ý úô ýõúüù ò� úüý õòòö õùö�òöóûôñù� �ûô� óò�ú
ñûüúòôý ÿû�ù ÷ùùô
óû�ù üò üÿù �ûø� úôüùö�ûø úô òö�ùö üò úóõöò�ù úü� �ôù ò� üÿùó úý üÿù û���ýüù�
�ûø� úôüùö�ûø ò÷üûúôù� ÷� �ú�ùôúôþ üÿù �ûø� úôüùö�ûø üò úôñöùûýù üÿù ñò�ùöûþù
õöò÷û÷úøúü�� �ÿúý úóõöò�ùóùôü úý ùýõùñúûøø� óùûôúôþ��ø �ÿùô üÿù ýûóõøù ýú�ùý ûöù
ýóûøø� ðôòüÿùö úóõòöüûôü úôüùö�ûø úý üÿù ýñòöù úôüùö�ûø ��úøýòô ������ ò÷üûúôù�÷� úô�ùöüúôþ üÿù ýñòöù üùýü ýüûüúýüúñý� �ÿúý úôüùö�ûø �ûý 
öýü ò÷üûúôù� �òö òôù
õöòõòöüúòô� ûô� üÿùöùû�üùö �ûý üò ÷ù ù�üùô�ù� üò �ùûø �úüÿ üÿù �ú�ùöùôñù ò� ü�ò
õöòõòöüúòôý� �ò�ù�ùö� úô üÿûü ñûýù� üÿù úôüùö�ûø øûñ	ý û ñøòýù� �òöó ��ûô �����
ûô� ó�ýü ÷ù ñòóõ�üù� ÷� ô�óùöúñûø ûõõöò�úóûüúòôý� ðþöùýüú �  û�ò ������
ûôûø��ù� üÿù ýñòöù úôüùö�ûø� ûô� �ùöú�ù� üÿù ð��úôþ�ä óùüÿò�
 û�� � ý�ññùýýùý
ûô� � �ûúø�öùý üò ýûóõøù ò÷ýùö�ûüúòô� ð ñòôýú�ùöû÷øù ô�ó÷ùö ò� û�üÿòöý ûþöùù
üÿûü ðþöùýüú ûô�  û�ò óùüÿò� ÿûý û �ùö� þòò� õùö�òöóûôñù ��ûô �����  òööùû �!úùööû ���ã�ðþöùýüú ùü ûø� ���"�� ðôòüÿùö úôüùö�ûø ò÷üûúôù� ÷� óò�ú��úôþ üÿù ýñòöù
óùüÿò� úý üÿù #ù�ñòó÷ù úôüùö�ûø �#ù�ñòó÷ù ���"$� ���"%�� ûô� úü ýùùóý üò ÿû�ù
û ýúóúøûö õùö�òöóûôñù üò üÿù ðþöùýüú ûô�  û�ò úôüùö�ûø � òööùû � !úùööû ���ã��

�ô üÿù &û�ùýúûô ûõõöòûñÿ� �ÿûó�'úû � ��ö		ûô ����ã� �ýù� üÿù ÿ�õùöþùò�
óùüöúñ ðõõùøø ��ôñüúòô ûô� �ùöú�ù� üÿù õòýüùöúòö �úýüöú÷�üúòô ò� p1−p2

�ÿùô ÷ùüû
õöúòöý ûöù �ýù� �òö ùûñÿ õöòõòöüúòô� 'ú�ùô üÿù ù�ûñü õòýüùöúòö �úýüöú÷�üúòô� ûôù�ûñü &û�ùýúûô ñöù�ú÷úøúü� úôüùö�ûø �òö p1 − p2

ñûô ÷ù �ò�ô�� �ò�ù�ùö üÿù ñòóõ��üûüúòôûø õöòñù��öùý ûöù ýòóù�ÿûü üù�úò�ý� üÿùöù�òöù ôù� ñòóõ�üûüúòôûø óùüÿò�ý
ý�ñÿ ûý üÿù �ûö	ò�  ÿûúô �òôüù  ûöøò �� � �� ñûô ÷ù �ýù� üò óû	ù úü ùûýúùöüò ù�ûø�ûüù õòýüùöúòö �úýüöú÷�üúòôý �òö p1 − p2 � ûý ðþöùýüú � �úô ����(� ûöþ�ù��

�ô üÿù øúüùöûü�öù� óûô� ñòóõûöúýòôý ÷ùü�ùùô ñòô
�ùôñù úôüùö�ûøý ÿû�ù ÷ùùô
�òôù �#ù�ñòó÷ù ���"$� #ù�ñòó÷ù ���"%�ðþöùýüú �  û�ò ����� �ûô �����  òööùû� !úùööû ���ã�� �ÿù ûúó ò� üÿúý öùýùûöñÿ úý üò üû	ù úôüò ûññò�ôü &û�ùýúûô ñöù�ú÷úøúü�
úôüùö�ûøý �òúôüø� �úüÿ �öù��ùôüúýü ñòô
�ùôñù úôüùö�ûøý� ð�üùö û ÷öúù� úôüöò��ñüúòô�!ùñüúòô � õöùýùôüý ýòóù �öù��ùôüúýü ûô� &û�ùýúûô úôüùö�ûøý �òö p1 −p2

� �öû�úüúòôûøñòô
�ùôñù úôüùö�ûøý ý�ñÿ ûý üÿù �ûø� ûô� û���ýüù� �ûø� ûöù ñòôýú�ùöù�� ûý �ùøøûý &û�ùýúûô ñöù�ú÷úøúü� úôüùö�ûøý �úüÿ ü�ò ôòôúô�òöóûüú�ù õöúòöý� !ùñüúòô ã �ùûøý
�úüÿ üÿù ñòóõûöúýòô ñöúüùöúû �òö üÿù ñòôýú�ùöù� úôüùö�ûøý
 üÿù ñò�ùöûþù õöò÷û÷úøúü��üÿù ù�õùñüù� øùôþüÿ� ûô� üÿù �ûöúûôñù ò� üÿù øùôþüÿ ûöù �ýù� úô òö�ùö üò ù�ûø�ûüùüÿù õùö�òöóûôñù ò� üÿù úôüùö�ûøý� !ùñüúòô ä õöùýùôüý öùý�øüý �òö üÿù õùö�òöóûôñù
ò� üÿù úôüùö�ûøý �úüÿ �ûö�úôþ ýûóõøù ýú�ùý� �ûö�úôþ �ûø�ùý ò� û ýúôþøù õöòõòöüúòô
ûô�� 
ôûøø�� üÿù �ú�ùöùôñù ò� üÿù ü�ò õöòõòöüúòôý� �üÿùö ýñùôûöúòý �ùöù ûôûø��ù��
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÷�ü ûøø ò� üÿùó �úùø� ýúóúøûö ñòôñø�ýúòôý� !ùñüúòô ( õöò�ú�ùý û ý�ö�ù� ò� òüÿùö
úôüùö�ûøý ûô� üÿùúö õùö�òöóûôñù� ûô� 
ôûøø� !ùñüúòô â þú�ùý ýòóù ñòôñø�ýúòôý ûô�
öùñòóóùô�ûüúòôý�

Pë Q%R) -&0),3+/4

�ô üÿúý ýùñüúòô �ù úôüöò��ñù ýòóù ñòô
�ùôñù ûô� ñöù�ú÷úøúü� úôüùö�ûøý üÿûü ûöùñòôýú�ùöù� ûô� øùû� üÿù öùýùûöñÿ üÿöò�þÿ ò�ü üÿúý õûõùö� �ù �ùôòüù p̂1
ûý üÿù

óû�úó�ó øú	ùøúÿòò� ùýüúóûüòö ò� p1
�ù
ôù� ûý∑n1

i=1

Xi

n1

ûô� ûôûøòþò�ýø� �òö p̂2
�

STUT VWXYZX[\]^\ ][\XW_`a^

�ÿù�ûø� úôüùö�ûø úý ÷ûýù� òô üÿù ôòöóûø ûõõöò�úóûüúòô üò üÿù �úýüöú÷�üúòô ò�
p̂1 − p̂2 � �ÿùô üÿù ýûóõøù ýú�ùý ûöù øûöþù� ÷� ñòôýú�ùöúôþ üÿûü

E(p̂1 − p̂2) = p1 − p2

V ar(p̂1 − p̂2) =
p1(1 − p1)

n1
+
p2(1 − p2)

n2

&� üÿù üÿù ñùôüöûø øúóúü üÿùòöùó û (1 − α)100% úôüùö�ûø �òö p1 − p2
úý ñøùûöø�

�ù
ôù� ÷� (Llow, Lupp)� �ÿùöù

Llow = p̂1 − p̂2 − z1−α/2

√
p̂1(1 − p̂1)

n1
+
p̂2(1 − p̂2)

n2

���

ûô�

Lupp = p̂1 − p̂2 + z1−α/2

√
p̂1(1 − p̂1)

n1
+
p̂2(1 − p̂2)

n2

���

�ÿù ñòóõ�üûüúòô ò� üÿúý úôüùö�ûø úý �ùö� ýúóõøù� ûô� úü úý õöùýùôüù� úô óòýü ò�
üÿù ýüûüúýüúñûø úô�ùöùôñù üù�ü÷òò	ý� bùýõúüù üÿù �ûñü ò� úüý õòõ�øûöúü��óûô� û�üÿòöýÿû�ù ýÿò�ô üÿûü üÿù õùö�òöóûôñù ò� üÿúý úôüùö�ûø úý ��úüù õòòö �'ÿòýÿ �����còøøýùü���ã� #ù�ñòó÷ù ���"$� #ù�ñòó÷ù ���"%�� �òöùò�ùö� �ÿùô üÿù ýûóõøù ýú�ùý ûöù
øûöþù� üÿù �ûø� úôüùö�ûø ýüúøø õùö�òöóý õòòöø� �&öò�ô ùü ûø� ������

 òôýú�ùöúôþ üÿûü üÿù �ûø� úôüùö�ûø �ýùý û ñòôüúô�ò�ý �úýüöú÷�üúòô üò ûõõöò��
úóûüù û �úýñöùüù �úýüöú÷�üúòô� ûô ûøüùöôûüú�ù üò �òö úóõöò�úôþ üÿù õùö�òöóûôñù ò�
üÿù �ûø� úôüùö�ûø úý üò úôñòöõòöûüù üÿù ñòôüúô�úü� ñòööùñüúòô �ûñüòö ÷� û��úôþ ûñòôýüûôü üùöó üò ÷òüÿ üÿù øò�ùö ûô� �õõùö øúóúüý� �ÿù öùý�øüúôþ øúóúüý ò� üÿù
û���ýüù� �ûø� úôüùö�ûø ûöù


Llow = p̂1 − p̂2 − z1−α/2

√
p̂1(1 − p̂1)

n1
+
p̂2(1 − p̂2)

n2
−
n1 + n2

2n1n2

�ã�
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ûô�

Lupp = p̂1 − p̂2 + z1−α/2

√
p̂1(1 − p̂1)

n1
+
p̂2(1 − p̂2)

n2
+
n1 + n2

2n1n2

�ä�

�ÿù û���ýüù� �ûø� úôüùö�ûø� ÷� �ù
ôúüúòô� ÿûý û �ú�ùö øùôþüÿ üÿûô üÿù �ûø�
úôüùö�ûø� �ÿúý øùû�ý üò ûô úôñöùûýúôþ üÿù ñò�ùöûþù õöò÷û÷úøúü�� ÷�ü ûü üÿù ýûóùüúóù� �ú�ùôúôþ üÿù úôüùö�ûø øùû�ý üò û øòýý ò� õöùñúýúòô�

ðþöùýüú �  û�ò ������ õöòõòýù� üò ñòó÷úôù üÿù �ûø� úôüùö�ûø ûô� üÿù ýñòöù
úôüùö�ûø� ��ù üò�úøýòô ������� ÷� û��úôþ õýù��ò ò÷ýùö�ûüúòôý úô òö�ùö üò úôñöùûýùüÿù ñò�ùöûþù õöò÷û÷úøúü�� �ÿù� �ò�ô� üÿûü üÿù òõüúó�ó ô�ó÷ùö ò� õýù��ò ò÷ýùö�
�ûüúòôý üò û�� úý �ò�ö
 ü�ò ý�ññùýýùý ûô� ü�ò �ûúø�öùý� ûô� üÿù� ýÿò�ù� üÿûü üÿù
õùö�òöóûôñù ò� üÿù öùý�øüúôþ ðþöùýüú� û�ò úôüùö�ûø úý ý�öõöúýúôþø� ÿúþÿ ù�ùô �òö
ýóûøø ýûóõøù ýú�ùý� �ÿù øúóúüý ò� ðþöùýüú� û�ò úôüùö�ûø ûöù


Llow = p̃1 − p̃2 − z1−α/2
√
V (p̃1, ñ1) + V (p̃2, ñ2)

�(�

ûô�
Lupp = p̃1 − p̃2 + z1−α/2

√
V (p̃1, ñ1) + V (p̃2, ñ2)

�â�
�úüÿ

V (p̃i, ñi) =
1

ñi

[
p̃i − p̃i

ni
ñi

+
1

2ñi

]

�ÿùöù ñi = ni + 2
�òö i = 1, 2 � p̃1 =

∑n1

j=1
Xj+1

ñ1

ûô� p̃2 =
∑n2

j=1
Yj+1

ñ2

�
ðôòüÿùö ñòô
�ùôñù úôüùö�ûø ò÷üûúôù� ÷� ñòó÷úôúôþ üÿù �ûø� ûô� üÿù ýñòöù

úôüùö�ûø úý üÿù #ù�ñòó÷ù úôüùö�ûø� �ò ñòóõ�üù üÿúý úôüùö�ûø� üÿù �òøøò�úôþ ù��ûüúòô�òö ùûñÿ pi ýÿò�ø� 
öýü ÷ù ýòø�ù�

|p̂i − pi| = z1−α/2

√
pi(1 − pi)

ni

dùüeý �ùôòüù üÿù ýòø�üúòôý ÷� li ûô� ui �úüÿ li < ui � i = 1, 2 � �ÿù øúóúüý ò� üÿù
#ù�ñòó÷ù úôüùö�ûø ûöù

Llow = p̂1 − p̂2 − z1−α/2

√
l1(1 − l1)

n1
+
u2(1 − u2)

n2

���

ûô�

Lupp = p̂1 − p̂2 + z1−α/2

√
u1(1 − u1)

n1
+
l2(1 − l2)

n2

�"�

#ù�ñòó÷ù �ò�ô� üÿûü üÿúý úôüùö�ûø ÿûý þòò� ñò�ùöûþù ûô� û�ùöûþù øùôþüÿ õöòõùö�
üúùý�
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STST f`gX^]`[ ][\XW_`a^

&û�ùýúûô úô�ùöùôñù úý üÿù õöòñùýý ò� 
üüúôþ û õöò÷û÷úøúü� óò�ùø üò û ýùü ò� �ûüû
ûô� ý�óóûöú�úôþ üÿù öùý�øü ÷� û õöò÷û÷úøúü� �úýüöú÷�üúòô òô üÿù õûöûóùüùöý ò�üÿù óò�ùø ûô� òô �ôò÷ýùö�ù� ��ûôüúüúùý� ý�ñÿ ûý õöù�úñüúòôý �òö ôù� ò÷ýùö�ûüúòôý
�'ùøóûô ùü ûø� ���ä�� �ÿúý õöòñùýý ñûô ÷ù ñûööúù� ò�ü ÷� �ýúôþ �ûö	ò�  ÿûúô
�òôüù  ûöøò óùüÿò�ý üÿûü ýúó�øûüù �ûø�ùý �öòó üÿù õòýüùöúòö �úýüöú÷�üúòô ò� üÿù
õûöûóùüùö ò� úôüùöùýüh� �ÿ�ý� �ù ûõõùûø üò üÿù 'ú÷÷ý ýûóõøúôþ ûøþòöúüÿó üò ýúó�
�øûüù �ûø�ùý �öòó üÿù õòýüùöúòö �úýüöú÷�üúòô�

�ô òö�ùö üò úóõøùóùôü û 'ú÷÷ý ýûóõøúôþ ûøþòöúüÿó �òö üÿù õöò÷øùó ò� 
ô�úôþ
û ñöù�ú÷úøúü� úôüùö�ûø �òö p1 − p2 � �ù ñÿòýù üÿù õöúòö �úýüöú÷�üúòôý ò� p1

ûô� p2üò ÷ù Beta(a1, b1)
ûô� Beta(a2, b2)� öùýõùñüú�ùø�� �ôñù üÿù ýûóõøùý ûöù �öû�ô�üÿù ò÷ýùö�ù� úô�òöóûüúòô úý þú�ùô ÷� x1, . . . , xn1

ûô� y1, . . . , yn2

òö ù��ú�ûøùôüø� ÷�
Sx =

∑n1

j=1 xj
ûô� Sy =

∑n2

j=1 yj
� �ÿù õòýüùöúòö óûöþúôûø �úýüöú÷�üúòôý ò� p1

ûô�
p2

ûöù ò÷üûúôù� ÷� &û�ùý üÿùòöùó ûô� ûöù þú�ùô ÷� Beta(a1 +Sx, b1+n1−Sx)
ûô�

Beta(a2 + Sy, b2 + n2 − Sy)� öùýõùñüú�ùø� �'ùøóûô ùü ûø� ���ä� õ� ãä�� !úôñù üÿù
ýûóõøùý ñòóù �öòó ü�ò úô�ùõùô�ùôü õòõ�øûüúòôý� üÿù õòýüùöúòö �òúôü �úýüöú÷�üúòô
ò� (p1, p2)

úý û õöò��ñü ò� úüý óûöþúôûø �úýüöú÷�üúòôý ûô�� �òö üÿúý öùûýòô� òôù ñûô
þùü ýûóõøùý �öòó üÿù õòýüùöúòö �úýüöú÷�üúòô ò� p1 − p2

÷� ýúó�øûüúôþ N �ûø�ùý
�öòó üÿù õòýüùöúòö �úýüöú÷�üúòô ò� p1

ûô� p2 � ýû� p(1)
1 , . . . , p

(N)
1

ûô� p(1)
2 , . . . , p

(N)
2 �öùýõùñüú�ùø�� �ÿùô� ÷� ñòóõ�üúôþ p(1)

1 − p
(1)
2 , . . . , p

(N)
1 − p

(N)
2 � �ù ò÷üûúô ýúó�øûüù�

�ûø�ùý �öòó üÿù õòýüùöúòö �úýüöú÷�üúòô ò� p1−p2
� #òüù üÿûü üÿù ûøþòöúüÿó õöùýùôüù�

ÿùöù þùôùöûüùý úô�ùõùô�ùôü ýûóõøùý �öòó üÿù õòýüùöúòö� ýò úü úý �ûúö üò ôûóù úü ûý��ýü û�òôüù  ûöøò ûøþòöúüÿó� öûüÿùö üÿûô û�ûö	ò�  ÿûúô�òôüù  ûöøò ûøþòöúüÿó�
ð�üùö üÿûü� úü úý õòýýú÷øù üò ñòóõ�üù üÿù ñöù�ú÷úøúü� úôüùö�ûøi ò� 100× (1−α)%�òö p1 − p2

�ýúôþ üÿù õùöñùôüúøùý ò� üÿù �ûø�ùý ýúó�øûüù� üÿûü úô��ñù üÿù ýÿòöüùýüñöù�ú÷øù úôüùö�ûøý� �ô üÿúý öùýùûöñÿ� �ù ñòôýú�ùö ü�ò ôòôúô�òöóûüú�ù õöúòöý �òö p1ûô� p2

 Beta(1, 1) ûô�Beta(0.5, 0.5) õöúòöý� Beta(1, 1)

ñòööùýõòô�ý üò üÿù �ôú�òöó
�úýüöú÷�üúòô� �ÿúñÿ õöò�ú�ùý üÿù ýûóù �ùúþÿü ûøòôþ ûøø �ûø�ùý úô üÿù öûôþù (0, 1)�òö ùûñÿ pi

�úüÿ i = 1, 2 � �ÿùô ÷òüÿ õöúòöý ò� p1
ûô� p2

ûöù �ôú�òöó õöúòöý�üÿù õöúòö �úýüöú÷�üúòô �òö üÿù �ú�ùöùôñù p1 − p2
úý û üöúûôþ�øûö �úýüöú÷�üúòô �úüÿ

�ùöüúñùý (−1, 0)� (1, 0) ûô� (0, 1)� �ÿûü úý üò ýû� üÿù õöúòö �úýüöú÷�üúòô õöò�ú�ùý
þöùûüùö �ùúþÿü üò �ûø�ùý ò� p1 − p2

ñøòýù üò 0 � ûô� ýóûøø �ùúþÿüý üò �ûø�ùý ñøòýù üòüÿù ù�üöùóùý −1 ûô� ��
�ÿù Beta(0.5, 0.5) úý 	ôò�ô ûý üÿù jù�öù�ý õöúòö� �ÿúñÿ� ûññòö�úôþ üò  ûöøúô �dò�úý ����"� õ� (��� úý ôòôúô�òöóûüú�ù úô û üöûôý�òöóûüúòô�úô�ûöúûüù ýùôýù� �ò��

ù�ùö� úü õöò�ú�ùý ù�üöû �ùúþÿü üò ù�üöùóù �ûø�ùý ò� pi � üÿûü úý� �ûø�ùý ñøòýù üò � ûô��� �ÿùô ÷òüÿ õöúòöý ò� p1
ûô� p2

ûöù üÿù jù�öù�ý õöúòö� üÿù õöúòö �úýüöú÷�üúòô ò�
p1 − p2

úý ý�óóùüöúñ ûü üÿù �ûø�ù � �ÿùöù úü úý ôòü �ù
ôù�� úôñöùûýúôþ �òö �ûø�ùý
klÉ ÊØÈ ÇÏÍÈ Æà ÈÍÊËÕÏÊËÉÎ ÊØÈ ÐËmÈÑÈÉÇÈ Æà ÊÙÆ áÑÆáÆÑÊËÆÉÍn ÊØÈ ÈoÏÇÊ áÆÍÊÈÑËÆÑ ÐËÍÊÑË+ÜÊËÆÉÆà p1−p2

ËÍ ÎËÌÈÉ +p ßØÏÕÔqËÏ r sÜÑttÏÉ .1uu42Ò vÆÙÈÌÈÑn ÊØËÍ ÈoÏÇÊ ÐËÍÊÑË+ÜÊËÆÉ ËÍ ÍÆÕÈÙØÏÊÇÆÕáÖËÇÏÊÈÐ ÏÉÐ ÇÆÕáÜÊÏÊËÆÉÏÖÖp ÈoáÈÉÍËÌÈ ÊÆ Æ+ÊÏËÉÒwsØÈÑÈ ÏÑÈ ÕÏÉp ÙÏpÍ ÊÆ ÇÆÉÍÊÑÜÇÊ Ï xÏpÈÍËÏÉ ÇÑÈÐË+ÖÈ ËÉÊÈÑÌÏÖ àÑÆÕ ÊØÈ áÆÍÊÈÑËÆÑ ÐËÍÊÑË+ÜÊËÆÉÒy ÉÏËÌÈ ÙÏp ÊÆ ÇÆÉÍÊÑÜÇÊ ËÊ ËÍ +p ÜÍËÉÎ ÊØÈ ÜááÈÑ ÏÉÐ ÖÆÙÈÑ α/2 zÜÏÉÊËÖÈÍÒ vÆÙÈÌÈÑn ÏÍ ÊØÈËÉÊÈÑÌÏÖÍ ÏÑÈ ÊÆ +È {ÜÐÎÈÐ +p ÈoáÈÇÊÈÐ ÖÈÉÎÊØ ÏÉÐ ËÊÍ ÌÏÑËÏÉÇÈn ËÊ ÙÆÜÖÐ ÕÏtÈ ÕÆÑÈ ÍÈÉÍÈ ÊÆ ÜÍÈÊØÈ ØËÎØÈÍÊ áÆÍÊÈÑËÆÑ ÐÈÉÍËÊp ËÉÊÈÑÌÏÖÍ ÙØËÇØ ÏÑÈn +p ÐÈ|ÉËÊËÆÉn ÊØÈ ÍØÆÑÊÈÍÊ ÇÑÈÐË+ÖÈ ËÉÊÈÑÌÏÖÍÙËÊØ ÊØÈ ÎËÌÈÉ ÇÆÌÈÑÏÎÈ .*ÏÑÖËÉ r }ÆÜËÍ 1uu6n áÒ ~42Ò
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úô (0, 1) ûô� �ùñöùûýúôþ �òö �ûø�ùý úô (−1, 0)� �ÿù ù�õøúñúü �ùôýúü� ��ôñüúòô ò� üÿù
õöúòöú �úýüöú÷�üúòô ò� p1 − p2

�ÿùô ÷òüÿ õöúòöý ò� p1
ûô� p2

ûöù ÷ùüû úý ýü��úù� úô�ÿûó�'úû � ��ö		ûô ����ã��

�ë $%R<+,-4%& *,-0),-+

�ô üÿúý ýùñüúòô� �ù ùýüû÷øúýÿ ýòóù ñöúüùöúû úô òö�ùö üò óùûý�öù üÿù õùö�òöóûôñù
ò� üÿù úôüùö�ûøý úô û �öù��ùôüúýü ýùôýù� ð þòò� ñòô
�ùôñù òö ñöù�ú÷úøúü� úôüùö�ûø
ýÿò�ø� ÿû�ù üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� ñøòýù üò òö øûöþùö üÿûô üÿù ôòóúôûø
�ûø�ù� �� ñò�öýù� úô óòýü ñûýùý� û �û� üò úôñöùûýù üÿù ñò�ùöûþù õöò÷û÷úøúü� úý ÷�
�ú�ùôúôþ üÿù úôüùö�ûø� ò÷üûúôúôþ úôüùö�ûøý �úüÿ øúüüøù õöùñúýúòô� �ÿù ñòóõûöúýòô ò�
�ú�ùöùôü óùüÿò�ý �òö ò÷üûúôúôþ ñòô
�ùôñù úôüùö�ûøý �òö òôù õûöûóùüùö ó�ýü üû	ù
úôüò ûññò�ôü üÿùúö øùôþüÿý� �ò ûññòóõøúýÿ üÿúý�óùûô ûô� �ûöúûôñù ò� üÿòýù øùôþüÿý
ûöù ûôûø��ù� úô üÿúý õûõùö� �ô ñòôñø�ýúòô� �ù �ýù üÿù �òøøò�úôþ ñöúüùöúû


�� �ÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� �ù
ôù� ÷�


CP = E(I(X,Y, p1, p2))
���

�ÿùöù X ûô� Y �ùôòüù üÿù ô�ó÷ùö ò� ý�ññùýýùý úô n1
ûô� n2

üöûúøý� öùýõùñ�üú�ùø�� I(x, y, p1, p2)
�ù
ôùý ûô úô�úñûüòö ��ôñüúòô üÿûü úý ù��ûø üò òôù ú� üÿù

úôüùö�ûø ñòôüûúôý p1 − p2
�ÿùô X = x ûô� Y = y � ûô� ù��ûø üò �ùöò ú� üÿù

úôüùö�ûø �òùý ôòü ñòôüûúô p1 − p2
� �ÿù ñò�ùöûþù õöò÷û÷úøúü� úý þú�ùô ÷�


CP =

n1∑

x=0

n2∑

y=0

I(x, y, p1, p2)

(
n1

x

)
px1(1 − p1)

n1−x

(
n2

y

)
py2(1 − p2)

n2−y ����

�� �ÿù ù�õùñüù� øùôþüÿ �ù
ôù� ÷�


l = E(U(X,Y ) − L(X,Y )) ����

�ÿùöù U(X,Y ) ûô� L(X,Y ) ûöù üÿù �õõùö ûô� øò�ùö øúóúü ò� üÿù ñòô
�ùôñù
òö ñöù�ú÷úøúü� úôüùö�ûø �òö p1−p2

� #òüù üÿûü üÿù� ûöù ��ôñüúòôý ò� üÿù �ûöúû÷øùý
X ûô� Y � �ÿù ù�õùñüù� øùôþüÿ úý þú�ùô ÷�


l =

n1∑

x=0

n2∑

y=0

(U(x, y)−L(x, y))

(
n1

x

)
px1(1−p1)

n1−x

(
n2

y

)
py2(1−p2)

n2−y ����

ã� ðôûøòþò�ýø�� �ù �ù
ôù üÿù �ûöúûôñù ò� øùôþüÿ ÷�


V = V ar(U(X,Y ) − L(X,Y )) ��ã�
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ûô� úü úý ùûý� üò ýÿò� üÿûü

V =

n1∑

x=0

n2∑

y=0

(U(x, y) − L(x, y))2
(
n1

x

)
px1(1 − p1)

n1−x

(
n2

y

)
py2(1 − p2)

n2−y

−

(
n1∑

x=0

n2∑

y=0

(U(x, y) − L(x, y))

(
n1

x

)
px1(1 − p1)

n1−x

(
n2

y

)
py2(1 − p2)

n2−y

)2

��ä�
#òüúñù üÿûü üÿùýù ñöúüùöúû ûöù �öù��ùôüúýü� úô üÿù ýùôýù üÿûü úô ����� ���� ûô���ä�� üÿù õöòõòöüúòôý p1

ûô� p2
ûöù ûýý�óù� üò ÷ù 
�ù� �ûø�ùý� öûüÿùö üÿûô öûô�òó

�ûöúû÷øùý�

�ë $%R<+,-4%& +R%&î -&0),3+/4

�ô üÿúý ýùñüúòô� �ù ñòóõûöù ýù�ùöûø ñòô
�ùôñù ûô� &û�ùýúûô ñöù�ú÷úøúü� úôüùö�ûøý
�úüÿ öùýõùñü üò ñò�ùöûþù õöò÷û÷úøúü� ûô� óùûô ûô� �ûöúûôñù ò� üÿùúö øùôþüÿý� �òöñòô
�ùôñù úôüùö�ûøý ��ûø�� û���ýüù� �ûø�� ðþöùýüú� û�ò ûô� #ù�ñòó÷ù�� üÿòýù�ûø�ùý �ùöù ù�ûñüø� ñòóõ�üù� �òö ýù�ùöûø ñòó÷úôûüúòôý ò� p1 � p2

ûô� �ú�ùöùôü
ýûóõøù ýú�ùý� �òö &û�ùýúûô úôüùö�ûøý� üÿù ñòóõ�üûüúòô �ûý �òôù ÷� óùûôý ò� üÿù
ýúó�øûüúòô ò� ýûóõøùý ò� üÿù õòýüùöúòö �úýüöú÷�üúòôý ò� p1

ûô� p2
� �ÿùýù �úýüöú÷��üúòôý �ùöù ò÷üûúôù� üÿöò�þÿ üÿù �ûö	ò�  ÿûúô ûõõöòûñÿ� ûô� õöúòö �úýüöú÷�üúòôý

�ýù� �òö p1
ûô� p2

�ùöù üÿù ýûóù
 Beta(1, 1) ûô� Beta(0.5, 0.5)� �ô ý�÷ýùñüúòô ä���üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� ò� ���( ñòô
�ùôñù øù�ùø òö ñöù�ú÷úøúü� øù�ùø ò� úôüùö�ûøý
ûöù ò÷üûúôù� �òö p2 = 0.5 � p1 ∈ (0, 1) ûô� nj ∈ {10, 50, 100} � �úüÿ j = 1, 2 � �òö üÿùü�ò õöúòöý �ùýñöú÷ù� û÷ò�ù� !�÷ýù��ùôüø�� üÿù óùûô ûô� �ûöúûôñù ò� üÿù úôüùö�ûøý
�ùöù ñòóõ�üù�� !�÷ýùñüúòô ä�� ýÿò�ý üÿù ýûóù 	úô� ò� ýü���� �úüÿ üÿù ýûóù ñÿò�
ýùô �ûø�ùý ûý úô ä��� ù�ñùõü üÿûü n2

úý 
�ù� ûü n2 = 30 � �ô ä�ã� n1 ∈ {1, 2, . . . , 500} �
n2 = 30 ûô� (p1 − p2) ∈ {0, 0.1, 0.5, 0.8} �

�TUT �XW��W�`[�X �� ][\XW_`a^ �g _`Wg][� ^`��aX ^]�X^
�ù ñòóõûöù üÿù õùö�òöóûôñù ò� üÿù ñòô
�ùôñù ûô� ñöù�ú÷úøúü� úôüùö�ûøý �òö

�ú�ùöùôü ýûóõøù ýú�ùý n1
ûô� n2

� �úöýü� �ù ñûøñ�øûüù üÿù üö�ù ñòô
�ùôñù øù�ùø�òö üÿù ñòô
�ùôñù úôüùö�ûøý ûý û ��ôñüúòô ò� p1
� �ÿù �ûø�ù p2

úý 
�ù� ûý ��(� üÿùýûóõøùý ýú�ùý ò� X ûô� Y ûöù ûýý�óù� üò ÷ù üÿù ýûóù� ûô� �ù ñòôýú�ùö üÿù �ûø�ùý
n1 = n2 = 10, 50, 100 � �ÿù öùý�øüúôþ ñò�ùöûþù õöò÷û÷úøúüúùý �òö üÿù �ûø� ûô�
û���ýüù� �ûø� úôüùö�ûøý ûöù õöùýùôüù� úô �úþ�öù �� �ü úý ýùùô üÿûü üÿù ñò�ùöûþù
õöò÷û÷úøúü� ò� üÿù û���ýüù� �ûø� úôüùö�ûø úý ûø�û�ý øûöþùö üÿûô üÿù �ûø� úôüùö�ûø�
üÿúý �ûñü úý úôü�úüú�ù ýúôñù üÿù û���ýüù� �ûø� úôüùö�ûø úý ò÷üûúôù� ÷� �ú�ùôúôþ üÿù
�ûø� úôüùö�ûø� ð��úüúòôûøø�� üÿù ñò�ùöûþù õöò÷û÷úøúü� úý ôòü û�ùñüù� ÷� üÿù �ú�ùöùôü�ûø�ùý ò� p1

� ðøýò� üÿù õòòö õùö�òöóûôñù ò� üÿù �ûø� úôüùö�ûø úý ôòüù�� ùýõùñúûøø�úô ýóûøø ýûóõøùý�
�ô üÿù òüÿùö ÿûô�� üÿù ñò�ùöûþù õöò÷û÷úøúüúùý ò� üÿù ðþöùýüú� û�ò ûô� #ù��ñòó÷ù úôüùö�ûøý ûöù õöùýùôüù� úô �úþ�öù �� �ü ñûô ÷ù ýùùô üÿûü ÷òüÿ úôüùö�ûøý ÿû�ù
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p1������ �� ���� �����"¡�  ���"������ �� ��� ©"�� "�� §�ª����� ©"�� ������"�� �"����¡
p1

 ���
n1 = n2 = 10, 50, 100

 ��� " �����"� �����"¡�  ���"������ �� ����

ñò�ùöûþù õöò÷û÷úøúü� ��úüù ñøòýù üò üÿù ôòóúôûø ñò�ùöûþù ���(� û �ùýúöû÷øù õöòõùöü�üÿûü üÿù �ûø� ûô� û���ýüù� �ûø� �ò ôòü ÿû�ù� ðøüÿò�þÿ üÿù û���ýüù� �ûø� úô�üùö�ûø ÿûý ñò�ùöûþù õöò÷û÷úøúü� øûöþùö üÿûô ���(� �ù �úøø ýùù øûüùö üÿûü úüý øùôþüÿ úý
üÿù øûöþùýü� ðøýò� üÿù ñò�ùöûþù õöò÷û÷úøúü� ò� üÿù #ù�ñòó÷ù úôüùö�ûø úý ýùûô üò ÷ù
û�ùñüù� ÷� �ú�ùöùôü �ûø�ùý ò� p1 � ùýõùñúûøø� �ÿùô üÿù ýûóõøùý ûöù ýóûøø�

�ÿù ñò�ùöûþù õöò÷û÷úøúü� �òö &û�ùýúûô úôüùö�ûøý úý õöùýùôüù� úô �úþ�öù ã� �ÿùöùúü úý ýùùô üÿûü üÿù õùö�òöóûôñù ò� üÿùýù ü�ò úôüùö�ûøý ûöù ýúóúøûö� ûô� ûöù ��úüù
þòò� úô üÿù ýùôýù üÿûü üÿù ñò�ùöûþù õöò÷û÷úøúü� úý ýüû÷øù �úüÿ öùýõùñü üò p1 � ûô�úý ñøòýù üò üÿù ôòóúôûø ���( ù�ùô �ÿùô üÿù ýûóõøùý ûöù ýóûøø� !ò �ù ñûô ñòôñø��ùüÿûü� úô üùöóý ò� üö�ù ñò�ùöûþù õöò÷û÷úøúü�� üÿù &û�ùýúûô úôüùö�ûøý ûöù ÷ùüüùö üÿûôüÿù �öù��ùôüúýü úôüùö�ûøý� �úüÿò�ü úþôòöúôþ üÿù ôòüû÷øù õùö�òöóûôñù ò� üÿù ðþöùýüú�
 û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý� ðý û 
ôûø öùóûö	� üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúüúùý
ò� ûøø üÿù úôüùö�ûøý ñòôýú�ùöù� ÷ùñòóù óòöù ýüû÷øù �úüÿ öùýõùñü üò p1

ûý üÿù ýûóõøù
ýú�ùý úôñöùûýùý�

�ù ôò� ñòóõûöù üÿù úôüùö�ûøý úô üùöóý ò� üÿù ù�õùñüù� øùôþüÿ� �ÿù ù�õùñüù�
øùôþüÿý ò� üÿù ñòôýú�ùöù� úôüùö�ûøý �úüÿ �ú�ùöùôü ýûóõøù ýú�ùý ûöù õöùýùôüù� úô
�úþ�öù ä� �ü úý ÷ù ýùùô üÿûü üÿù úôüùö�ûø �úüÿ øûöþùýü øùôþüÿ úý üÿù û���ýüù� �ûø�
úôüùö�ûø� �ÿúý ýÿò�ý üÿûü üÿù ÿúþÿ ñò�ùöûþù õöò÷û÷úøúü� úý ��ù üò üÿù øùôþüÿ ò� üÿù
úôüùö�ûø� ÷�ü úý ôòü ��ù üò úüý þòò� õùö�òöóûôñù� �ÿù ýÿûõù ò� üÿù ñ�ö�ù �òö üÿù
�ûø� úôüùö�ûø úý ýúóúøûö üò üÿù û���ýüù� �ûø�� üÿúý úý úôü�úüú�ù ýúôñù üÿù û���ýüù�
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p1������ �� ���� �����"¡�  ���"������ �� ��� §¡������´"�� "�� ¦� ����� ������"�� �"�����¡
p1

 ���
n1 = n2 = 10, 50, 100

 ��� " �����"� �����"¡�  ���"������ ������

�ûø� úôüùö�ûø úý ò÷üûúôù� ÷� ý�÷üöûñüúôþ ûô� û��úôþ û ñòôýüûôü üò üÿù øò�ùö ûô�
�õõùö øúóúü ò� üÿù �ûø� úôüùö�ûø� öùýõùñüú�ùø�� ðý û öùý�øü üÿùô� üÿù �òøøò�úôþöùøûüúòôýÿúõ ÷ùü�ùùô üÿù øùôþüÿý ò� üÿùýù úôüùö�ûøý öùóûúôý


lA.Wald = lWald +
n1 + n2

n1n2

��(�

�ÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý ÿû�ù û óòöù ýüû÷øù ù�õùñüù� øùôþüÿ
�úüÿ öùýõùñü üò p1

üÿûô üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý� �ÿù úóõöò�ùóùôü
úý ôòüù� ùýõùñúûøø� úô ýóûøø ýûóõøùý� �ô ýûóõøùý �úüÿ n1 = n2 = 50, 100 � üÿùøùôþüÿ ò� üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý ûöù ýóûøøùö üÿûô üÿù �ûø�
ûô� û���ýüù� �ûø� úôüùö�ûøý�

�ÿù ù�õùñüù� øùôþüÿý ò� üÿù &û�ùýúûô úôüùö�ûøý ûöù ûøýò õöùýùôüù� ûøýò úô �úþ�öùä� �ÿùöù úü úý ýùùô üÿûü üÿù õùö�òöóûôñù ò� üÿù úôüùö�ûøý �úüÿ üÿù �ôú�òöó ûô�
jù�öù�ý õöúòö ûöù ýúóúøûö� �ò�ù�ùö� üÿùúö ù�õùñüù� øùôþüÿý ûöù øûöþùö üÿûô üÿùðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý �ÿùô n1 = n2 = 100 � �ÿùô n1 = n2 =
50 � üÿù øùôþüÿý ûöù ýúóúøûö� �ÿùô n1 = n2 = 10 � üÿù &û�ùýúûô úôüùö�ûøý ýÿò� û
ýúóúøûö õùö�òöóûôñù üò üÿù #ù�ñòó÷ù úôüùö�ûø �ÿúøù üÿù ðþöùýüú� û�ò úôüùö�ûø ÿûý
û ýøúþÿüø� øûöþùö ù�õùñüù� øùôþüÿ� �ô ñòôñø�ýúòô� üÿù #ù�ñòó÷ù úôüùö�ûø ÿûý üÿù
ýóûøøùýü ù�õùñüù� øùôþüÿ úô ûøø ýûóõøù ýú�ùý�
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������ �� ���� �����"¡�  ���"������ �� ��� £"����"� ������"�� �"����¡
p1

 ���
n1 =

n2 = 10, 50, 100
 ��� " �����"� �����"¡�  ���"������ �� ����

�úôûøø�� �ù ñòóõûöù üÿù úôüùö�ûøý úô üùöóý ò� �ûöúûôñù ò� üÿù øùôþüÿ� #ò�
üúñù üÿûü üÿù �ûöúûôñù ò� üÿù øùôþüÿ ò� üÿù û���ýüù� �ûø� úôüùö�ûø úý ù��ûø üò üÿù
�ûø� úôüùö�ûø� �ùñûøøúôþ ��(� ûô� �ýúôþ üÿù õöòõùöü� ò� �ûöúûôñù� �ù ÿû�ù üÿûü
V ar(lA.Wald) = V ar(lWald)

� !ò úô üÿù 
þ�öùý öùøûüù� ò� üÿù �ûöúûôñù ò� üÿù øùôþüÿ��ù òôø� õøòü üÿù �ûöúûôñù ò� øùôþüÿ �òö üÿù �ûø� úôüùö�ûø�
�ÿù �ûöúûôñùý ò� øùôþüÿ �òö�ûø��û���ýüù� �ûø�� ðþöùýüú� û�ò ûô� #ù�ñòó÷ù

úôüùö�ûøý ûöù õöùýùôüù� úô �úþ�öù (� �ü úý ýùùô üÿûü üÿù #ù�ñòó÷ù úôüùö�ûø ÿûý üÿù
ýóûøøùýü �ûöúûôñù� ûøüÿò�þÿ �ùö� ñøòýù üò üÿù �ûöúûôñù ò� üÿù ðþöùýüú� û�ò úôüùö�ûø��ÿù ÿ�þù �ûöúûôñù ò� üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý úô ýóûøø ýûóõøùý úý
ûøýò ýùùô� �ô üÿù òüÿùö ÿûô�� üÿù �ûöúûôñùý ò� üÿù &û�ùýúûô úôüùö�ûøý ûöù õöùýùôüù�
úô �úþ�öù â� ûô�� üÿù õùö�òöóûôñù ò� üÿù úôüùö�ûøý �úüÿ üÿù �ôú�òöó õöúòö ûô� üÿù
jù�öù�ý õöúòö ûöù ýúóúøûö� �ò�ù�ùö� üÿùúö �ûöúûôñù úý øûöþùö üÿûô ÷òüÿ üÿù ðþöùýüú�
 û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý�

�ô ñòôñø�ýúòô� úô üùöóý ò� üö�ù ñò�ùöûþù õöò÷û÷úøúü�� üÿù ÷ùýü úôüùö�ûøý ûöù üÿù
&û�ùýúûô� úô üùöóý ò� üÿù ù�õùñüù� øùôþüÿ� üÿù ÷ùýü úôüùö�ûø úý üÿù #ù�ñòó÷ù
úôüùö�ûø� ûý �ùøø ûý úô üùöóý ò� �ûöúûôñù ò� üÿù øùôþüÿ�
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������ �� ·¥ ����� ���¡�� �� ��������� "�� £"����"� ������"�� �"����¡
p1

 ���
n1 =

n2 = 10, 50, 100
�

�TST �XW��W�`[�X �� ][\XW_`a^ _`Wg][� _`aZX^ ��
p1

�ô üÿúý ýùñüúòô� �ù ñòóõûöù üÿù õùö�òöóûôñù ò� üÿù úôüùö�ûøý �ÿùô �ú�ùöùôü
�ûø�ùý ò� p1

ûöù ñòôýú�ùöù��
�úöýü� �ù ñòóõ�üù üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� ûý û ��ôñüúòô ò� n1 � üÿù �ûø�ùò� n2

úý 
�ù� üò ÷ù ã�� üÿù �ûø�ù ò� p2
úý ��(� ûô� �ù ñòôýú�ùö üÿù �ûø�ùý p1 =

0.01, 0.1, 0.3, 0.5 � �ÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� �òö üÿù �ûø� ûô� û���ýüù� �ûø�
úôüùö�ûøý ûöù õöùýùôüù� úô �úþ�öù �� �ü úý ýùùô üÿûü� ûý úô üÿù õöù�úò�ý ýùñüúòô�üÿù ñò�ùöûþù õöò÷û÷úøúü� ò� üÿù û���ýüù� �ûø� úôüùö�ûø úý ûø�û�ý øûöþùö üÿûô üÿù
�ûø� úôüùö�ûø� ð��úüúòôûøø� �òö üÿù û���ýüù� �ûø� úôüùö�ûø� ûý üÿù ýûóõøù ýú�ù
n1

úôñöùûýùý� üÿù ñò�ùöûþù õöò÷û÷úøúü� ÷ùñòóùý óòöù ýüû÷øù� �ÿúøù �òö üÿù �ûø�
úôüùö�ûø� üÿù úôñöùûýúôþ ýûóõøù ýú�ù �òùý ôòü úóõöò�ù üÿù ñò�ùöûþù õöò÷û÷úøúü�
�ÿùô p1 = 0.01, 0.1, 0.3 ��ô �úþ�öù "� üÿù ñò�ùöûþù õöò÷û÷úøúüúùý ò� üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù
úôüùö�ûøý ûöù õöùýùôüù�� �ù ýùù üÿûü üÿù õùö�òöóûôñù ò� üÿù #ù�ñòó÷ù úôüùö�ûø úý
÷ùüüùö üÿûô ðþöùýüú� û�ò úôüùö�ûø ûý úüý ñò�ùöûþù õöò÷û÷úøúü� úý óòöù ýüû÷øù� �ÿùô
p = 0.01, 0.1, 0.3 � úü úý ûø�û�ý øûöþùö üÿûô üÿù ôòóúôûø ���(� ûô� �ÿùô p1 = 0.5 � ú
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 ���
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üúý �ùö� ñøòýù üò ���(� ðøüÿò�þÿ üÿù û���ýüù� �ûø� úôüùö�ûø ÿûý û øûöþùö ñò�ùöûþù
õöò÷û÷úøúü� üÿûô üÿù #ù�ñòó÷ù úôüùö�ûø� �ù �úøø ýùù øûüùö üÿûü üÿúý úôüùö�ûø ûøýòÿûý û øûöþùö ù�õùñüù� øùôþüÿ�

�ÿù öùý�øüý �òö üÿù &û�ùýúûô úôüùö�ûøý ûöù üÿòýù õöùýùôüù� úô �úþ�öù �� �ÿùöùúü úý ýùùô üÿûü �òö ÷òüÿ úôüùö�ûøý� üÿù ñò�ùöûþù õöò÷û÷úøúü� úý ñøòýù üò üÿù ôòóúôûø
õöò÷û÷úøúü� ���(� ûô� úý ôòü û�ùñüù� ÷� �ú�ùöùôü �ûø�ùý ò� p1

� ÿò�ù�ùö� úü úý ýóûøøùö
üÿûô üÿù û���ýüù� �ûø� ûô� #ù�ñòó÷ù úôüùö�ûø� �ô ñòôñø�ýúòô� üÿù ÷ùýü úôüùö�ûøý
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n1������ �� ���� �����"¡�  ���"������ �� ��� ©"�� "�� §�ª����� ©"�� ������"�� �"����¡
n1

"��
p1

 ��� " �����"� �����"¡�  ���"������ �� �����

úô üùöóý ò� üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü�� ûöù üÿù û���ýüù� �ûø� ûô� #ù�ñòó÷ù
úôüùö�ûøý�

�ù ñòóõûöù üÿù úôüùö�ûøý úô üùöóý ò� üÿù ù�õùñüù� øùôþüÿ �òö �ú�ùöùôü �ûø�ùý
ò� p1

� �ô �úþ�öù ��� üÿù ù�õùñüù� øùôþüÿý ò� üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý
ûöù õöùýùôüù�� #òüù üÿûü� ûý úô üÿù õöù�úò�ý ýùñüúòô� üÿù ù�õùñüù� øùôþüÿ ò� üÿù
û���ýüù� �ûø� úôüùö�ûø úý ûø�û�ý øûöþùö� �ÿ�ý �ù �ò ôòü öùñòóóùô� üÿúý úôüùö�ûø
úô ýõúüù ò� úüý øûöþù ñò�ùöûþù õöò÷û÷úøúü�� �ü úý ûøýò ôòüù� üÿûü üÿù øùôþüÿý þùü
ýóûøøùö ûý üÿù �ûø�ù ò� p1

�ùñöùûýùý ûô� n1
úôñöùûýùý� �ÿù ù�õùñüù� øùôþüÿý ò�

üÿùðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý ûöù õöùýùôüù� úô �úþ�öù ��� �ü ñûô ÷ù
ýùùô üÿûü üÿùúö õùö�òöóûôñù ûöù �ùö� ýúóúøûö� ûøüÿò�þÿ üÿù øùôþüÿ ò� üÿù #ù�ñòó÷ù
úôüùö�ûø úý ýøúþÿüø� ýóûøøùö� �ô û��úüúòô úü úý ýùùô üÿûü üÿùúö øùôþüÿý ûöù ýúóúøûö üò
üÿù øùôþüÿ ò� üÿù �ûø� úôüùö�ûø�

�ô �úþ�öù ��� üÿù ù�õùñüù� øùôþüÿý ò� üÿù &û�ùýúûô úôüùö�ûøý ûöù õöùýùôüù���ü úý ýùùô üÿûü üÿùúö õùö�òöóûôñùý ûöù ûøóòýü üÿù ýûóù ûý üÿù ðþöùýüú� û�ò ûô�
#ù�ñòó÷ù úôüùö�ûøý� �ô ñòôñø�ýúòô� ù�ñùõü �òö üÿù û���ýüù� �ûø� úôüùö�ûø� üÿùõùö�òöóûôñù ò� üÿù òüÿùö úôüùö�ûøý úô üùöóý ò� üÿù ù�õùñüù� øùôþüÿ úý �ùö� ýúóúøûö�

�ù ûøýò ñòóõûöù üÿù úôüùö�ûøý ñòôýú�ùöúôþ üÿù �ûöúûôñù ò� üÿù øùôþüÿ� �ÿù
õùö�òöóûôñù ò� �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý úý õöùýùôüù� úô �úþ�öù �ã� �ü úý
ýùùô üÿûü �òö øûöþù ýûóõøù ýú�ùý� üÿù �ûöúûôñù úý ûøóòýü �ùöò� �ÿù �ûöúûôñù ò� üÿùðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý úý õöùýùôüù� úô �úþ�öù �ä� �ÿùöù úü úý ýùùô
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n1������  � ���� �����"¡�  ���"������ �� ��� §¡������´"�� "�� ¦� ����� ������"�� �"�����¡
n1

"��
p1

 ��� " �����"� �����"¡�  ���"������ �� �����

üÿûü �ÿùô üÿù ýûóõøù ýú�ù n1
úý ýóûøø� üÿù #ù�ñòó÷ù úôüùö�ûø ûø�û�ý ÿûý û ýóûøøùö

�ûöúûôñù üÿûô üÿù ðþöùýüú� û�ò úôüùö�ûø� �ÿúøù üÿù �ú�ùöùôñù úý ôùþøúþú÷øù �ÿùô n1úý øûöþù� ðü ûô� öûüù� üÿù �ûöúûôñù ò� üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý úý
ýóûøøùö üÿûô üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý�

�ô �úþ�öù �(� üÿù �ûöúûôñùý �òö üÿù &û�ùýúûô úôüùö�ûøý ûöù õöùýùôüù�� #òüúñù üÿûüüÿùöù úý ôò ýúþôú
ñûôü �ú�ùöùôñù ÷ùü�ùùô üÿù �ôú�òöó ûô� jù�öù�ý õöúòö� �ò�ù�ùö�üÿùúö �ûöúûôñùý ûöù ýóûøøùö üÿûô üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý ûô� øûöþùöüÿûô üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý� �ô ñòôñø�ýúòô� üÿù úôüùö�ûø �úüÿüÿù ýóûøøùýü �ûöúûôñù úô øùôþüÿ úý üÿù #ù�ñòó÷ù úôüùö�ûø�

�T¡T �XW��W�`[�X �� ][\XW_`a^ �g _`Wg][� _`aZX^ �� �U ¢ �S
!úôñù üÿù õûöûóùüùö ò� úôüùöùýü úý üÿù �ú�ùöùôñù ÷ùü�ùùô üÿù õöòõòöüúòôý p =

p1−p2 � úü úý ôûü�öûø üò ñÿùñ	 üÿù õùö�òöóûôñù ò� üÿù úôüùö�ûøý �ÿùô üÿúý õûöûóùüùöñÿûôþùý� �ÿùöù�òöù� �ù ñûøñ�øûüù üÿù üö�ù ñò�ùöûþù õöò÷û÷úøúü� ò� üÿù úôüùö�ûøý úô
üÿù ñûýù üÿûü p1 − p2£��������(���"� üÿù �ûø�ù ò� n2

úý 
�ù� üò ÷ù ã�� ûô� n1
üû	ùý

�ûø�ùý 1, 2, . . . , 500 �
�ÿù õùö�òöóûôñù ò� üÿù �ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý ûöù õöùýùôüù� úô

�úþ�öù �â� �ÿùöù �ù ýùù üÿûü �ÿùô üÿù �ú�ùöùôñù ÷ùü�ùùô p1
ûô� p2

úý øûöþù�üÿù ñò�ùöûþù õöò÷û÷úøúü� ò� üÿù �ûø� úôüùö�ûø úý öùûøø� ýóûøø� ��öüÿùö óòöù� úô
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n1������ ¤� ���� �����"¡�  ���"������ �� ��� £"����"� ������"�� �"����¡
n1

"��
p1

 ��� "
�����"� �����"¡�  ���"������ �� �����

õöù�úò�ý ýùñüúòôý� üÿù û���ýüù� �ûø� ûø�û�ý ÿûý øûöþùö ñò�ùöûþù õöò÷û÷úøúü� üÿûôüÿù ôòóúôûø ���(� ÷�ü úô üÿù ñûýù üÿûü p1 − p2 = 0.8 � úüý ñò�ùöûþù õöò÷û÷úøúü�
�ùñöùûýùý ñòôýú�ùöû÷ø��

�ÿù ñò�ùöûþù õöò÷û÷úøúüúùý ò� üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý ûöù
õöùýùôüù� úô �úþ�öù ��� �ÿùöù �ù ôòüù üÿûü� ñòôüöûö� üò üÿù �ûø� ûô� û���ýüù�
�ûø� úôüùö�ûøý� üÿù ðþöùýüú� û�ò ûô� #ù�ñòó÷ù úôüùö�ûøý ÿû�ù øûöþùö ñò�ùöûþù
õöò÷û÷úøúü� �ÿùô p1 − p2

üû	ùý øûöþùö �ûø�ùý� �ùþûö�úôþ üÿù &û�ùýúûô úôüùö�ûøý��ÿòýù ñò�ùöûþù õöò÷û÷úøúüúùý ûöù õöùýùôüù� úô �úþ�öù �"� �ù ôòüù üÿûü üÿùúö õùö�òö�óûôñù úý ôòü û�ùñüù� ÷� üÿù �ûø�ùý ò� p1 − p2 � ûô� üÿûü üÿúý úý ûô û��ûôüûþù ò�ùö
üÿù ñòô
�ùôñù úôüùö�ûøý�

¥ë ¦06), -&0),3+/4

�ÿùöù ûöù óûô� òüÿùö ñòô
�ùôñù úôüùö�ûøý úô ýüûüúýüúñûø øúüùöûü�öù� !òóù ò�
üÿùó �úøø ÷ù ÷öúù§� õöùýùôüù�� �ûô ������ óò�ú
ù� üÿù ðþöùýüú� û�ò úôüùö�ûø
�ýúôþ üÿù t �úýüöú÷�üúòô úôýüùû� ò� üÿù ôòöóûø �úýüöú÷�üúòô üò üû	ù ò� üÿù �ôñùöüûúôü�
úô ùýüúóûüúôþ üÿù �ûöúûôñù ò� üÿù ò÷ýùö�ù� õýù��ò õöòõòöüúòô úôüò ûññò�ôü� �ü �ûý�ò�ô� üÿûü úô ýòóù ýúü�ûüúòôý üÿù õöòõòýù� óùüÿò� ñûô ÿû�ù û ÿúþÿùö ñò�ùöûþù
õöò÷û÷úøúü� üÿûô üÿù ðþöùýüú� û�ò úôüùö�ûø� �ò�ù�ùö� üÿù õöúñù õû�ù� �òö üÿù �ûô
úôüùö�ûø úý üÿù öùý�øüúôþ �ú�ùö øùôþüÿ ò� üÿù úôüùö�ûøý� �ÿù øúóúüý ò� üÿúý úôüùö�ûø
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������ �¨� ·¥ ����� ���¡�� �� ��� ©"�� "�� "�ª����� ©"�� ������"�� �"����¡
n1

"��
p1
�

ûöù

Llow = p̃1 − p̃2 − td,1−α/2

√
V (p̃1, ñ1) + V (p̃2 + ñ2)

��â�
ûô�

Lupp = p̂1 − p̂2 + td,1−α/2
√
V (p̃1, ñ1) + V (p̃2 + ñ2)

����
�ÿùöù

d ≈
2[V (p̃1, ñ1) + V (p̃2 + ñ2)]

Ω(p̃1, ñ1) + Ω(p̃2 + ñ2)

ûô�

Ω(p̃i, ñi) =
p̃i − p̃2

i

ñ3
i

+ p̃i + (6ñi − 7)p̃2
i + 4(ñi − 1)(ñi − 3)p̃2

i−

2(ñi − 1)
(2ñi − 3)p̃3

i

ñ5
i

−
2p̃i + (2p̃i − 3)p̃2

i − 2(ñi − 1)p̃3
i

ñ4
i

�ÿùöù p̃i ûô� ñi ûöù ýúóúøûöø� �ù
ôù� ûý úô üÿù ðþöùýüú� û�ò úôüùö�ûø �òö i = 1, 2 �
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�úùüüúôùô � #�öóúôùô ���"(� õöòõòýù� ûô ûý�óõüòüúñ óùüÿò� ÷ûýù� òô üÿù
ýñòöù üùýü ýüûüúýüúñ� �ÿùöù üÿù �òøøò�úôþ ý�ýüùó úý ñòôýú�ùöù�


H0 : p1 − p2 = p∗ versus H1 : p1 − p2 6= p∗

üÿù ýñòöù üùýü ýüûüúýüúñ �òö üùýüúôþ üÿúý ý�ýüùó úý þú�ùô ÷�

S =
p̂1 − p̂2 − p∗√

p̃1(1 − p̃1)/n1 + p̃2(1 − p̃2)/n2

��"�

�ÿùöù p̃1
ûô� p̃2

ûöù üÿù óû�úó�ó øú	ùøúÿòò� ùýüúóûüùý ò� p1
ûô� p2 � öùýõùñüú�ùø���ô�ùö üÿù öùýüöúñüúòô üÿûü p1 − p2 = p∗ � �ÿù øúóúüý ò� üÿù ýñòöù úôüùö�ûø Llow ûô�

Lupp
ûöù �ù
ôù� üò ýûüúý��


1 − Φ

(
p̂1 − p̂2 − Llow√

p̃1(1 − p̃1)/n1 + p̃2(1 − p̃2)/n2

)
= Φ

(
p̂1 − p̂2 − Lupp√

p̃1(1 − p̃1)/n1 + p̃2(1 − p̃2)/n2

)

=
α

2 ����
ûô� üÿù ýòø�üúòô ò� Llow ûô� Lupp ó�ýü ÷ù �ò�ô� �ýúôþ ô�óùöúñûø óùüÿò�ý�

�ô û��úüúòô� üÿùöù úý üÿù  øòõõùö��ùûöýòô úôüùö�ûø� �ÿúñÿ úý ýüöòôþø� ûýýòñúûüù�
�úüÿ üÿù  øòõõùö��ùûöýòô üùýü� �ò�ù�ùö� óûô� û�üÿòöý ÿû�ù ñöúüúñú�ù� üÿúý úôüùö�
�ûø �òö ÷ùúôþ üòò ñòôýùö�ûüú�ù úô úüý ñò�ùöûþù õöò÷û÷úøúü� �còý � ���ýòô ���"��
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ðôòüÿùö �ùøø�	ôò�ô úôüùö�ûø úý üÿù &øû	ùö úôüùö�ûø� �ÿúý úôüùö�ûø ÿûý û ýóûøøùö
øùôþüÿ üÿûô üÿù  øòõõùö��ùûöýòô úôüùö�ûø� ú�ù� úü úý ûø�û�ý ñòôüûúôù� �úüÿúô üÿù
 øòõõùö��ùûöýòô úôüùö�ûøý �&øû	ùö ������

ðý �ù óùôüúòôù� úô !ùñüúòô �� üÿù ù�ûñü &û�ùýúûô úôüùö�ûø �òö p1 − p2
ñûô

÷ù ò÷üûúôù� �ýúôþ üÿù ù�ûñü õòýüùöúòö �úýüöú÷�üúòô� �ÿûó�'úû � ��ö		ûô ����ã�
ùýüû÷øúýÿù� üÿûü �ÿùô üÿù õöúòö �úýüöú÷�üúòô �òö pi úý Beta(ai, bi) �òö i = 1, 2 � üÿùõòýüùöúòö �úýüöú÷�üúòô �òö p = p1 − p2

úý þú�ùô ÷�

p(p | x,y) =






1

k
B(α2, β1)p

β1+β2−1(1 − p)α2+β1−1

F1(β1, α1 + β1 + α2 + β2 − 2, 1 − α1, β1 + α2, 1 − p1 − p2)�òö 0 < p ≤ 1

1

k
B(α1 + α2 − 1, β1 + β2 − 1)

�òö p = 0

1

k
B(α1, β2)(−p)

β1+β2−1(1 + p)α1+β2−1

F1(β2, 1 − α1, α1 + β1 + α2 + β2 − 2, β2 + α1, 1 − p2, 1 + p)�òö − 1 ≤ p < 0����
�ÿùöù

x = (X1, . . . , Xn1
) ûô�

y = (Y1, . . . , Yn2
)�
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k = B(a1, b1)B(a2, b2)� �úüÿ B(a, b)
üÿù ÷ùüû ��ôñüúòô ù�ûø�ûüù� úô a � b � üÿûüúý�

B(a, b) =

∫ 1

0

ta−1(1 − t)b−1dt ����
ðô� F1(ϕ, η1, η2, ψ, w1, w2)

úý üÿù �ò�öüÿ ÿ�õùöþùòóùüöúñ ðõõùøøeý ��ôñüúòô� þú�ùô÷�
Γ(ψ)

Γ(ϕ)Γ(ψ − ϕ)

∫ 1

0

uϕ−1(1 − u)ψ−ϕ−1(1 − uw1)
−η1(1 − uw2)

−η2du ����

�ÿùô üÿù öùûø õûöü ò� ϕ � ψ−ϕ ûöù ûøø õòýúüú�ù� �òö óòöù �ùüûúøý� ýùù &ûúøù� ���ãä��'ú�ùô üÿù ù�ûñü õòýüùöúòö �úýüöú÷�üúòô ò� p = p1 − p2 � û &û�ùýúûô úôüùö�ûø úý
�ù
ôù� ÷� üÿù øò�ùö øúóúü l ûô� �õõùö øúóúü u ý�ñÿ üÿûü


Pr(l ≤ p ≤ u | x,y) = 1 −
α

2

l ûô� u ûöù ñÿòýùô üò ýûüúý�� Pr(p < l | x,y) = Pr(p > u | x,y) = α/2 � �ÿûó�'úû� ��ö		ûô ����ã� ñòôýú�ùöù� û ô�óùöúñûø ù�ûóõøù �ÿùöù üÿù õöúòö �úýüöú÷�üúòô ò�
p1

ûô� p2
ûöù Beta(3, 5) ûô� Beta(2, 8)� öùýõùñüú�ùø�� ûô� üÿù ýûóõøúôþ öùý�øüý ûöù

n1 = 10 � sx = 4 � n2 = 6 ûô� sy = 2 � �ÿù öùý�øüúôþ õòýüùöúòö �úýüöú÷�üúòô ò� p1−p2úý ÷ùøø�ýÿûõù�� ý�óóùüöúñ ûü üÿù �ûø�ù ����� ûô� ûô ù�ûñü ��© ñöù�ú÷úøúü� úôüùö�ûø
úý (−0.11, 0.39)�
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� �ô üùöóý ò� üö�ù ñò�ùöûþù õöò÷û÷úøúü�� üÿù ÷ùýü úôüùö�ûø úý üÿù &û�ùýúûôúôüùö�ûø� ýúôñù úüý ñò�ùöûþù õöò÷û÷úøúü� úý ûø�û�ý ñøòýù üò üÿù ôòóúôûø ñò�ùöûþù

õöò÷û÷úøúü� ûô� úý ûø�û�ý ýüû÷øù �úüÿ öùýõùñü üò �ú�ùöùôü ýûóõøùý ýú�ùý� �ÿù� ûöù�òøøò�ù� ÷� üÿù #ù�ñòó÷ù ûô� ðþöùýüú� û�ò úôüùö�ûøý� �ù �úýñûö� üÿù �ýù ò�
û���ýüù� �ûø� úôüùö�ûø ýúôñù úüý øûöþù ñò�ùöûþù õöò÷û÷úøúü� úý ò÷üûúôù� ûü üÿù ù��
õùôýù ò� û øûöþù øùôþüÿ� �ÿù �ûø� úôüùö�ûø õùö�òöóý õòòöø� ûøüÿò�þÿ üÿúý õòòö
õùö�òöóûôñù úô ýóûøø ýûóõøùý úý û öùý�øü üÿûü úý �ùøø�	ôò�ô ùóõúöúñûøø� ûô� üÿù�
òöùüúñûøø� � ùõù�û ùü ûø� ���"�� �ô üùöóý ò� ù�õùñüù� øùôþüÿ� üÿù ÷ùýü úôüùö�ûø úý
üÿù #ù�ñòó÷ù úôüùö�ûø �òøøò�ù� ÷� üÿù ðþöùýüú� û�ò úôüùö�ûø� &û�ùýúûô úôüùö�ûøý�ûô� üÿù �ûø� úôüùö�ûø� �ÿù û���ýüù� �ûø� úôüùö�ûø ûø�û�ý ÿûý øûöþùýü øùôþüÿ� �ôüùöóý ò� üÿù �ûöúûôñù ò� øùôþüÿ� üÿù ÷ùýü úôüùö�ûø úý ûþûúô üÿù #ù�ñòó÷ù úôüùö�ûø��òøøò�ù� ÷� üÿù ðþöùýüú� û�ò úôüùö�ûø� üÿù�ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý� �ÿù
úôüùö�ûøý �úüÿ üÿù øûöþùýü øùôþüÿ �ûöúûôñù ûöù üÿù &û�ùýúûô úôüùö�ûøý� üÿùöù �òöù üÿù#ù�ñòó÷ù úôüùö�ûø úý ýüöòôþø� öùñòóóùô�� �ÿù�ûø� ûô� û���ýüù� �ûø� úôüùö�ûøý
ûöù ôòü öùñòóóùô�ù��
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ðþöùýüú� ð�� &úôú� ��� &ùöüûññúôú� &� � ���� Å� ����"�� Æ!úó�øüûôùò�ý  òô
�ùôñù�ôüùö�ûøý �òö  òóõûöúôþ &úôòóúûø �ûöûóùüùöýe� ÇÈÉÊËÌÍÈÎÏ ÐÑ� ����Ò���(�
ðþöùýüú� ð� �  û�ò� &� ������� Æ!úóõøù ûô� Å�ùñüú�ù  òô
�ùôñù �ôüùö�ûøý �òö �öò�õòöüúòôý ûô� bú�ùöùôñùý ò� �öòõòöüúòôýe� ÓÊËÍÈÎ$Ô ÕÌ$ÌÈÏÌÈÎÈ$Ô ÖÑ�ä�� �"�Ò�""�
ðþöùýüú� ð� � �úô� ×� ����(�� Æ�öù��ùôüúýü �ùö�òöóûôñù ò� &û�ùýúûô  òô
�ùôñù�ôüùö�ûøý �òö  òóõûöúôþ �öòõòöüúòôý úô �×�  òôüúôþùôñ� �û÷øùýe� ÇÈÉÊËÌÍÈÎÏÐØ� (�(Ò(�ã�
&ûúøù�� �� #� ���ãä�� Æ�ô üÿù öù��ñú÷úøúü� ò� ðõõùøøeý ��ôñüúòô �äe� ÙÚË ÛÜ$ÍÌËÍÝÞßÉÜÍÔ$Ý Éà á$ÌÚËÊ$ÌÈÎÏ Ö� ���Ò����
&øû	ùö� �� ������� Æ òô
�ùôñù  �ö�ùý ûô� �óõöò�ù� Å�ûñü  òô
�ùôñù �ôüùö�ûøý�òö búýñöùüù búýüöú÷�üúòôýe� ÙÚË â$Ô$ãÈ$Ô ßÉÜÍÔ$Ý Éà ÕÌ$ÌÈÏÌÈÎÏ äå�ä�� �"ãÒ��"�
&öò�ô� d� b��  ûú� �� �� � bûý'�õüû�ð� ������� Æ�ôüùö�ûø ùýüúóûüúòô ò� û ÷úôòóúûø

õöòõòöüúòôe� ÕÌ$ÌÈÏÌÈÎ$Ý ÕÎÈËÔÎË ØÐ� ���Ò�ãã�
 ûöøúô� &� �� � dò�úý� �� ð� ����"�� Ç$ÞËÏ $Ôã æÊçÈÍÈÎ$Ý Ç$ÞËÏ áËÌÚÉãÏ àÉÍ è$Ì$

ÓÔ$ÝÞÏÈÏ�  ÿûõóûô � �ûøø�
 ùõù�û� Å�� ðþ�úøûö� ���  ùö�ûôüùý� c��  òööûøùý� ��� béû�� �� � �ò�öéþ�ù�� b�����"�� Æ�ôüùö�ûøòý �ù ñòô
ûô�û ù úôüùö�ûøòý �ù ñöù�ú÷úøú�û� õûöû �ôû õöòõòö�ñúêôe� ëËìÈÏÌ$ âÉÝÉÊ%È$Ô$ ãË æÏÌ$ãíÏÌÈÎ$ îØ���� ���Ò��"�
 òööùû� j�  � � !úùööû� Å� ����ã�� Æ�ôüùö�ûøòý �ù ñòô
ûô�û õûöû øû ñòóõûöûñúêô �ù

�òý õöòõòöñúòôùýe� ëËìÈÏÌ$ âÉÝÉÊ%È$Ô$ ãË æÏÌ$ãíÏÌÈÎ$ äÐ���� â�Ò�(�
'ùøóûô� ð��  ûöøúô� j� &�� !üùöô� �� !� � ��÷úô� b� &� ����ä�� Ç$ÞËÏÈ$Ô è$Ì$

ÓÔ$ÝÞÏÈÏ� ýùñòô� ù�ô�  ÿûõóûô � �ûøø�
'ÿòýÿ� &� ï� ������� Æð  òóõûöúýòô ò� !òóù ðõõöò�úóûüù  òô
�ùôñù �ôüùö�ûøý�òö üÿù &úôòóúûø �ûöûóùüùöe� ßÉÜÍÔ$Ý Éà ÌÚË ÓÊËÍÈÎ$Ô ÕÌ$ÌÈÏÌÈÎ$Ý ÓÏÏÉÎÈ$ÌÈÉÔðÑ� "�äÒ����
�úùüüúôùô� �� !� � #�öóúôùô� �� ���"(�� Æ òóõûöûüú�ù ûôûø�ýúý ò� ü�ò öûüùýe�ÕÌ$ÌÈÏÌÈÎÏ ÈÔ áËãÈÎÈÔË Ñ� ��ãÒ��â�
#ù�ñòó÷ù� �� ����"$�� Æ�ôüùö�ûø Åýüúóûüúòô �òö üÿù bú�ùöùôñù ÷ùü�ùùô �ô�ùõùô�

�ùôü �öòõòöüúòôý
  òóõûöúýòô ò� Åøù�ùô �ùüÿò�ýe� ÕÌ$ÌÈÏÌÈÎÏ ÈÔ áËãÈÎÈÔËØð� "�ãÒ"���
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#ù�ñòó÷ù� �� ����"%�� Æ��ò�!ú�ù�  òô
�ùôñù �ôüùö�ûøý �òö üÿù !úôþøù �öòõòöüúòô
 òóõûöúýòô ò� !ù�ùô �ùüÿò�ý� !üûüúýüúñý úô �ù�úñúôùe� ÕÌ$ÌÈÏÌÈÎÏ ÈÔ áËãÈÎÈÔËØð� "(�Ò"���
�ûô� �� ������� Æðõõöò�úóûüù  òô
�ùôñù �ôüùö�ûøý �òö �ôù �öòõòöüúòô ûô� bú���ùöùôñù ò� ��ò �öòõòöüúòôýe� âÉÊçÜÌ$ÌÈÉÔ$Ý ÕÌ$ÌÈÏÌÈÎÏ $Ôã è$Ì$ ÓÔ$ÝÞÏÈÏÑñ� �äãÒ�(��
�ÿûó�'úû� �� � ��ö		ûô� #� ����ã�� Æ&û�ùýúûô ðôûø�ýúý ò� üÿù bú�ùöùôñù

ò� ��ò �öòõòöüúòôýe� âÉÊÊÜÔÈÎ$ÌÈÉÔÏ ÈÔ ÕÌ$ÌÈÏÌÈÎÏò ÙÚËÉÍÞ $Ôã áËÌÚÉãÏää�â�� ��((Ò�����
còøøýùü� !� Å� ����ã�� Æ òô
�ùôñù úôüùö�ûøý �òö û ÷úôòóúûø õöòõòöüúòôe� ÕÌ$ÌÈÏÌÈÎÏ ÈÔáËãÈÎÈÔË Øä� "��Ò"�ä�
còý� �� �� � ���ýòô� !� ����"�� Æ�öò÷øùóý �úüÿ &úôòóúûø ��ò�!ú�ù� �ùýüý ûô�üÿù ðýýòñúûüù�  òô
�ùôñù �ôüùö�ûøýe� ÓÜÏÌÍ$ÝÈ$Ô ó ôËõ öË$Ý$Ôã ßÉÜÍÔ$Ý ÉàÕÌ$ÌÈÏÌÈÎÏ Öñ���� "�Ò"��
�úøýòô� Å� &� ������� Æ�öò÷û÷øù �ô�ùöùôñù� üÿù dû� ò� !�ññùýýúòô� ûô� !üûüúýüúñûø�ô�ùöùôñùe� ßÉÜÍÔ$Ý Éà ÌÚË ÓÊËÍÈÎ$Ô ÕÌ$ÌÈÏÌÈÎ$Ý ÓÏÏÉÎÈ$ÌÈÉÔ ää� ���Ò����
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